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S5 Bl [ vy SmER ZINEH 30l 5 [3f5]5 30] 5|3[5]5
1 17 | BE=E £k F7/NJLE595 Ty y02 427 5 477 32.7 327 | 327
2 20 =& FoeE H=—— 37.1 37.1 33.4 334 | 334
3 21 e EayRy 35.4 35.4 33.9 339 | 339
4 13 £ HE KIT-AC O—K 24— 34.5 345 37.6 376 | 345
5 3 EAR EX OUAC-E-LEY 43.3 43.3 35.8 358 | 35.8
6 5 pNEEN SHAI)L-EEA 36.7 36.7 38.4 384 | 36.7
7 6 |f2H H£2 KMAD—HOR SEYH 42.4 424 37.0 370 | 370
8 15 = FBH SEFREEEERLEY 452 45.2 37.7 37.7 | 317
9 12 B Xid ACK Vitz 428 428 38.6 386 | 38.6
10 16 fin;: SN KIT-ACA > 7k Okei 39.5 39.5 39.1 39.1 39.1
MT 11 2 hE = S15VLET 46.7 5 51.7 39.4 394 | 394
12 1 [if] 2 HERR 7/N)LR595T vy 37.8 5 428 345 5 395 | 395
13 11 /AR fE# ACK/\)LH— 44.4 44.4 39.9 39.9 | 39.9
14 19 EE B1E KIT-ACHIILETSA 44.0 440 40.3 403 | 403
15 14 [EHE #2 KIT-ACKAVTI S 88.2 88.2 40.5 405 | 405
16 28 5 B KIT-AC¥* GGS/\> 40.5 40.5 39.2 5 442 | 405
17 4 = 8 AMSE I +c YHE D A ALFIT 442 44.2 40.8 408 [ 408
18 10 | ME EXEE OUAC kei 44.1 44.1 42.3 423 | 423
19 24 ERR E ERRRT4—avT T\ 52.8 52.8 42.5 425 | 425
20 7 gk EE ACK-KITLE > 88.2 88.2 434 434 | 434
21 8 [EEEDN [FLHTDS)—-RALTk 447 447 46.2 462 | 447
22 18 2 Ht | KIT-ACKEY#HXO—KRA2— | 582 58.2 55.7 30 85.7 | 58.2 |
1 22 EXE3 KIT-ACE >4 Vitz 425 5 475 38.8 38.8 | 388
2 23 AL HhEk ACKI 1wk 39.9 39.9 44.2 5 492 [ 39.9
AT 3 9 FRAT $if J&SATES—IaTF7RTA 46.5 46.5 455 455 | 455
4 27 [NITIEL ] KIT-AC— & D1k 67.0 67 52.8 52.8 | 52.8
5 25 EEH EH KIT-ACKRED AMOVE 79.7 79.7 106.0 5 1110 [ 79.7
6 26 SEH KFE KIT-ACE /¥ 7#&E Vitz 106.5 10 116.5 98.9 5 103.9 | 103.9




